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INSTRUCTIONS

1. ' Please correctly fil ybur Roll Number: in. O.M.R." Sheet._

Candidate will himself be responsible for filling wrong Roll No.

2. At the start.of the examination; before attempting the
question. paper kindly check: your test booklet and O.MR.
Answer Sheet and ensure that:

% - The serial numbers of test booklet and O.M.R answer sheet
are same.

+  All'pages of test booklet and O.M.R. answer sheet are
properly printed. All questions from S. No. 1 to last S. No. 100
are prinied and pages from S. No. 1 to last S. No. 16 are there
in the question booklet.

In' case of any discrepancy/ ‘defect  the -candidate 'should

immediately report the matter to the invigilator for replacement of

test bookiet and O.M.R answer sheet. No claim / objection in this
regard will be entertained after five minutes of start of examination.

Gandidate will be liable for it.

3. Answer all'questions. :

4. All questions carry equal marks.

5. Only one answer is to be given for each question.

6. It more than one answers are marked, it would be treated as
Wrong answer.

7. Negative marking is apphed one third (1/3) of the marks
allotted to the question. will: be: deducted for every wrong
answer. - Wrong answer shall mean an ingorrect answer or
multiple answers. Leaving all the relevant circles or bubbles
of any question: blank will not be considered as wrong
answer.

8. Each question has four alternative responses marked serially

as (A), (B), (C), (D). Candidate has to darken only one circle :

or bubble indicating the correct answer on the Answer Sheet
using BLUE BALL POINT PEN.

9, Use of Mobile Phone/ Bluetooth: Devices or any other
electronic gadget in the examination hali is strictly prohibited.
it any such prohibited material is found with any candidate,
strict actlon wm be taken by the Board against himv/her as per
rule.

10.°If thers is any sort of ambiguity/mistake either of printing or’
factual nature in Hindi and: English version of the question,
the English versior will be treated as standard. '

Warning : If a candidate is found copying or.if any unauthorized
material is found in his/her possession, F.L.R. would be lodged
against him/her in the Police Station and he/she would be liable to
be prosecuted under Section 3 of the State Prevention of Unfair
Means Act, 1992 and Board Regulations. Board may also debar
hir/her permanently from alf future examinations of the Board.
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1. Match List- with List-II and select the right
code -
 List-1
{a)  Nautanki
(b) Rammat
(c) Tamasha
(d)  Turra-Kalangi
List-11
(i) Mewar
(i)  Bikaner
(iii)  Jaipur
(iv)  Dholpur - Bharatpur
Code - »
(A (@)-(1), (b)-(id), (c)-(iii), (d)-(iv)
(B) (a)-(iv), (b)-(i), (c)-(iii), (d)-(i)
(©) (a)-(i), (b)-(ii), (c)-(iv), (d)-(i)
(B) (a)-(iv), (b)-(iii), (c)-(iD), (d)-(i)

Wﬁ—lﬁ?ﬁﬁ—ﬂ@ﬂﬁ%ﬁaﬂﬁgﬁm
BT TAT PITT —

- 1
(a) @
(b) ,
() THRTT R
(@ g wed o
i | |
M &S
() e
(iii) AR
(iv) g — "R
m‘a‘ —

(A) (@)-(1), (b)-(i1), (c)-(iii), (d)-(iv)

(B) (a)-(iv), (b)-(i), (c)-(ii), (d)-(i)

(©) (a)-(i), (b)-(iii), (c)-(iv), (d)-(D)-

(B) (a)-(iv), (b)-(iii), (c)-(ii), (d)-(i)

As per Administrative Report 2020-21 of the
Forest Department, the top two districts in
forest area are -

(A) Baran, Sirohi
(C) Baran, Alwar

(B) Udaipur, Alwar
(D) Udaipur, Baran

g9 frT @1 geafye R 2020-21 @
IR, a9 & ¥ wareg & fral § —

(A) IRI, RREY (B) SR, IraTar
(C) IR, TR (D) SEUR, a7 -

3.

According to 2011 census, which districts of

Rajasthan have recorded less than 100

density of population?
(A) Jaisalmer, Churu, Bikaner

‘ (8) Bikaner, Barmer, Pali

(C) Barmer, Baran, Hanumangarh
(D) Jaisalmer, Bikaner, Barmer

2011 B TR @ IR, ORI B B
I el § 100 B9 ST g9 87

(A) TR, TF, FPER

(B) PR, TTSHY, el

(C) IrEwR, I, TS

- (D) IR, PR, IrewN

In which district of Rajasthan the fair of
Sitabari is organised? -

(B) Bikaner

(D) Baran

(A) Barmer
(C) Bundi

TR § WaEr B den f?ﬂ? forer fr
ST T 27

(A) FrewR (B) frprR

©) & (D) 97

Who was the Teacher (Guru) of Saint Pipa of
Rajasthan?

(B) Ramananda

(D) Dadu

(A) Ramanuj
(C) Raidas |
RIS & | G & T[S B 97

(A) IS (B) MR

© LGRS (B) 715

The districfs irrigated by Jawai Dam Project
are -

(A) Pali and Jalore

(C) Sirohi and Jalore (D) Sirohi and Pali

(B) Pali and Barmer

wd @7 Ao @ R Rt € -
(A) Treft o SRR (B) et ol TSR
(©) RRE iR TR (D) R sl arelt
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7. Mukhyamantri Anuprati Yojana is related 11. The dress of Rajasthani ‘Tara Bhant ki Odhni’
to - is popularin -
{A) Home construction for weaker people (A) Dalit women (B) Jat women
(B) Girl education (C) Tribal women (D) Gurjar women
(C) Well construction . » _
(D) Coaching for competitive exams TSI “TRT A1 BT Ao BT &eTran foper
‘ wafer 87 | _
el syt Ao fraw wee 87 (A) gfer Afgey (B) wire wfgemy
(A) g AT B T Rt | (©) anfearh wlRemd (D) ToRk Afkent
(B) rferest fRrerr & ’ 12. Which one of the following (Book - Author) is
(C) it & foHoT & ~ not matched correctly? 7
(0) gitrarh odemell B TAR | (A) Eklinga Mahakavya - Maharana Kumbha
8. Which one of the following (Mineral - ‘ (B) Prabandh Chintamani - Merutungacharya
Producing Area) is not correctly matched? (C) Hammir Mahakavya - Nayan Chandra
(A} Iron - Nathra ki Pal " Suri ‘
(B). Manganese - Kalakhunta (D) Prabandh Kosh - Harisen
(C) Gypsum - Jamsar
(O) Garnet - Saladipura L Prerferfe § 4 F1 W (I - —c}i’@ﬁﬁ) ghferd
Frefeiya § @ B 1 (@S — SaTed 85) el 87
gHfera &1 87 (A) THAT HETHTY — HERIOT HFT
(A) dlg — A1RRT P Ut (B) gy R — fogrard
(B) HIfy —  TemeT () TR HETHT — TTaE G
(g) Wi - ’; z (D) &1 By — BRI '
®) ) . . , 13. |n which state is the Sabarimala Ayyappan
9.  In which district of Rajasthan a ‘War Museum
: ‘ Temple located?
was established in August, 20157 _ B
(A) Sikar (B) Jaisalmer (A) Tamil Nadu (B) Karnataka
(€} Jodhpur (D) Barmer (C) Kerala (D) Goa
ISR % 3% ot # u ;E SECERIN aSHTET e AR e o ¥ Rerg 27
LIYAT TR, 2015 H BT TS+ A) R (B) & ,
(A) R (B) IR - © 3 ©) T
(C) SR (D) TR . ‘
10. Name the first woman of Rajasthan who was 14. Which one of the following (Folk Dance -
arrested and expelled during the freedom ‘Area) is not matched correctly?
struggle of Rajasthan - : (A) Bum - Bharatpur
(A) Smt. Ratan Shastri (B) Dhol - Jalore
(B) Smt. Anjana Devi Chaudhary (€) Geendar - Shekhawati
(C) Smt. Nagendra Bala (D) Gair - Mewat
(D) Smt. Rama Pandey
G & =il Fale & R FRTR frafafag 4 94 &9 @ @6 T — &)
W%ﬁﬁﬁﬁ?ﬁ?ﬂﬁiﬁwm e T 7
o - (A) g9 — WRAR
(A) Al 3T wreE
N Nerd (B) T — AR
o il (©) +figs — @R
(C) st =g aTett :
(D) el T oY (D) AR — Hard
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15.  Match the following -
ic s t
(1) Sarangi
(2) Poongi
(3) Kamayacha
{(4) Ravanhatha
Caste

(i) Bhope
(ii) Manganiyar

- (iii) Langa
(iv) Kalbelia
Code - -
(A) (1)-(1), (2)-(iD), (3)-(iid), (4)-(iv)
(B) (1)-(iv), (2)-(iii), (3)-(ii), (4)-(D)
(© (1)-(ii1), (2)-(iv), (3)-(i1), (49)-()
(D) (1)-(ii), (2)-(1), (3)-(iid), (4)-(iv)
guferd Piforg — e

CICEE
(1) |’
@ g : i
(3) T Y
(4) <TvTERR

smfay

(@) -
(i) #FTRRR
(iii) =T
(iv) @reraferar
m PR
(&) (1)-(D, (2)-(1), (3)-(iid), (4)- (IV)
(B) (1)-(iv), (2)-(iii), (3)-(i1), (4)-()
© (1)-(ii), (2)-(iv), (3)-(id), (4)-()
(@) (1)-(id), (2)-(1), (3)-(iii), (4)-(iv)
16. India got Rafalé fighter aircraft from which

country?. ~

(A) France (B) Russia

©) usa (D) Japan

AR A Be AP ASTH ﬁm*m e o
et fay #7

(A) wig (B) 9

(C) armRa®T (D) STUT

~17. The use of information and communication
technology by the government to ensure
~ participation of people in administration is
called - :
(A) Gyansudha (B) Gyandoot
(C) E-Governance (D) E-Choupal

JATeE # W B w9l e

B
o WRHR gNT YEe R dar def @

TYINT PT HET AT & —
(A) STTeRgeT (B)
(€) $-—Trad=a

(D) $—grer

18. What was the name of cyclonic storm that
came in Arabian Sea in May, 20217

i3 (B) Rohini
() wayu (D) Tauktae

S 2021 99 AR ¥ S T T P

H T o017
(B) 3yfzofy

= (&) T
(C) ary (D) TrSw

19. Which handicraftsman received ‘Rajasthan
© Hastshilp Ratna Award’ in 20217
(A) Ganga Singh (B} Hariom Prajapati
' Gautam : ’
() Babulal Marotia

(D) Anufég Kashyap

g'"gfc*m‘s'w&raﬁtb‘fﬁrézamm ISR

ERIRIeY v REBR faar e

(A) iy Rig e (B) sReiw yomaRy

L2 (C) 9rqertel ARIfEAT (D) IFRAT B3y

26: Who among the following was awarded the
‘Padma Vibhushan’ in the year 2021 for
sports?

(A} Virat Kohli , (B) Mary Kom

(C) Kapil Dev (D) Babita Phogat
Frfafed § 9 59 @al @ fog of 2021 %
TR forqeT qRegp o AT

() foRTe PrEel - (B) ¥% Bm

. (C) ®fue qg (D) &S W

2. Who among the following has been appdmted
the Chairman of 6t Finance Commlssxon in

Rajasthan?
(A) Bhanwarlal | (B) Pradyuman Singh
Sharma Lol

B (C) Hem Singh (D) Mohan  Krishna
” Shekhawat - Bohra

freafafeg & @ feaer woram § 63 R

SR BT afewer foges fa w27

(A) SFavmrer et ®B) vz Rig

(€) 9 g dwrga (D) s poT AE

22. Mukundara Hills of Rajasthan are part of -
(A) The Aravalli range (B) The Vindhyan
: " range
(©) The Satpura range (D) The Plains

ISR B et VIRt fowr & —

(A) aRTaeh 3 R (B) R o gmIfiSaY
B

Edl
(C) wagsT @1 UEIREAT (D) Fai 31
i A
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23.

Whicﬁ one of the following (Lift Canal - '27. In which district of Rajasthan “National Fossil
Beneficiary = Districts) is not correctly Park” is located? : .
ﬁit(zheg? Bile d Jodhpur (A) Jodhpur ~ (B) Jaipur
Dr. Karni - Bikaner and joahpu ; .
. o L c (D) Imer
(B) Guru Jambheshwar - Bikaner, Jodh (C) Barmer Jaisalm
~_ and Jaisalmer ToRe @ fra e ﬂ@amm'
(C) Pokaran - Jaisalmer and Jodhpur Rerer 27
D - d Jodhpur :
(D) Veer Tejaji - Nagaur and Jodhpu () ® = |
frafafaa & 4 Eﬁ?; w1 (fore 7ex — al‘:llf?‘f!a (©) TreiR (D) TR
forel) 4 4 28. The dominant type of soil in Hadoti region is - |
(A) €t Bl — SR 3R SR : m S
(A) Vertisol (B) Alfisol
(B) o STITER — TR, TR SR AT : :
(C) Inceptisol (D) Antisol
* (C) ROl — SRR iR SRR : s
(D) IR et — AR SR SRR BTSN JE BT AT HT FEN FIR © —
24. As per Forest Report - 2019, the correct (A) Tdifer : (B) 315"75"?!51
descending order of districts having Iargest (©) grarafer (D) TudtETe
forest area in Rajasthan is - 29. Rajasthan State Industrial Development and
(A) Udaipur > Pratapgarh >»Alwar > Baran Investment Corporation Limited (RIICO) was
.(B) Uda%pur > Baran > Pratapgarh > Alwar established in the year -
(C) Udaipur > AIwar.> Pratapgarh > Baran A) 1971 B) 1969
- (D) Pratapgarh > Udaipur > Baran > Alwar © 1554 () 1961
a?fﬁq‘sé—zmezﬁm,wmm’iﬁ% i
B , Rrepr) wfsa fbar rar o —
(A) TR > YATITE > 3efay > qR1 (A) af 1971 (B) 98 1969
%) SRR 2 A 2 HArie 2 3  (©) af 1967 (D) § 1961 ¥
(C) SEUPR > 3T > ST > AT : : _
(D) UATTE > SEIYR > IRT > AR 30. Consider the following statements and select
25. Which of the following district of Ra;asthan the correct answer ?Sing code given below -
are least affected by the Earthquakes? (1) Bhorat plateau is located between
(A) Ganganagar and Hanumangarh Kumbhalgarh and Rajsamand.
(B) Bharatpur and Alwar (2) Badland topography is found in Chambal
(C) Kota and Baran Basin.
(D) Barmer and Jaisalmer - (3) Raghunathgarh is the hlghest peak of
I ® frEfifaa # 9 9 ﬁﬂﬁ Tb‘“ﬁ kil Northern Aravalli.
I FH ARG 7 Code - ‘
(A) TR 3R FTAFTE i (A) 1and 3 (B) 1and 2
(B) eyY 3HY SfefaR “uf ~ (©) 2and3 () 1,2and3
(€) BreT AR IRI : :
(D) qTeRR 3R SR vﬁﬂ%@aa?quﬁmaﬁﬁmawﬂﬁm
26. Which one of the following conservatién. &1 ggq A e @ 9 Sy —
reserve of Rajasthan is not located ’Zﬁi (1 WRTE . FT TSR Ef,‘m-{dq¢ e,ﬁq qAGTE B
Jhunjhunu district? ;;: e Rerd 2
(A) Shakambhari (z) Beer ii @ & _‘}ﬁm 3 ey &1
(©) Mansa Mata (D) Gogelav = 3) i o e e
TR FT FrEfalad § o B9 W Hegav e _g
Aot /el  oraf 5o
'QW/ BN o g e .%ﬁg (M) 1 3R 3 ) 1 3l 2
e o Eﬁgm‘ | (€)2 3R 3 () 1,2 3R 3
(C) =T ATl (D) g
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31.

32.

12
. (C) 2n2—1

33.

) 795 fEre

34.

Which of the following is not true for
geometric mean?

(A) 1t is based on all the observatlons of the
set,

(B) It is not suitable for further algebraic
treatment.

(C) It cannot be calculated if any of the value
in the set is zero.

(D) It is least affected by extreme values.

gmﬁﬁmmweﬁ%«qzﬁqwasaqwﬁ
(A)ggﬁquweﬁwmwaﬂmﬁa

 (B) I® Iugril A ey oty e @

fore Sugar =&t &)
(C)ﬁma?ﬁnﬁmmmwﬁ
9 SRfE wrE @) eSS 4 o
[l v
(D)HEW$WW“@3§HWW%
BIAT B | '
The variance of first n natural numbers is -
(A) n?+1 (B) (n+1)?
12 12
(C) 2n2-1 (D) n?-1
8 ETH
T n W @Sl BT geRr ¥ —
(A) n?+1 (B) (n+1)?

12
(D) n2-1
8 ]2

The most appropriate measure to compare

the consistency of two series is -

(A) Standard (B) Mean deviation
deviation

(C) Coefficient
variation

aﬁ%‘fﬁmﬁﬁma&mmﬁzﬁﬁqm

SR 7 & — ‘
(B) wrey fager

(©) = poTics (D) g

A given data has mean = 6.5, median = 6.3

and mode = 5.4. It represents -

(A) Leptokurtic distribution

(B) Mesokurtic distribution

of (D) Range

- (€) Negatively skewed distribution

(D) Positively skewed distribution

% AU 8T WP BT AR = 6.5, AiRawT =
6.3 TAT 9go1F = 5.4 B, °1 ¥ wRffg
AT & —

(A) FTHHd e

(B) megeprepd] qe+

(©) vrd awRE ge9

(D) yreR®s 9w des

35. The most appropriate diagram to represent

36.

37.

38.

data relative to monthly expenditure on
different items of a family is -
(A) Histogram (B) Pie diagram

(D) None of the above
F gRaR & R 7t qv e @) IR ERT

(C) Line graph

TEfia B¥ & fore we swge R @ -
W) s B (B) wie P .
(C) X 3 (D) SRTT #§ A B

If Qi, Q2 and Q3 are three quartiles of ba

frequency distribution, which of the following

holds if the distribution is negatlvely skewed?
(A) Q1+ Q3> 2Q2 (B) Q1+ Q3<2Q:2

() Q1+ Q2<2Qs (D) Qz3-Q1>20Q;

X Q1, Qeud Qs At aRaRET do @
IR €, a1 Frefafea § @ 599 9 a1 B
Wl I Wl € AR 9% INaRaT 9 e
ey &7

(A) Q1+ Q3> 202 B Qi+Q3<2Q2

€) Q1+Q2<20; (D Qs-Q1>2Q

For discrete distribution, the co-efficient of
kurtosis Bzis -

(A) Greater than 1 (B) Less than 1

(C) Equal to 1 (P) Lessthan orequal to 1

fosd dea & forg goyefide B o —

(A) 1 ¥ ot 8T @ (B) 1 O o9 gy 2

© 13 RREAT L (D)1 QA B9 AT WK
gram 8

A systematic sample does not yield good

result, if -

(A) Variation in units is periodic

(B) Units at regular intervals are correlated

(C) Both (A) and (B)

(D) None of these o

Ife —

() g1zl & W fygert ofadi &

(B) Frafia sierter W =i sareat % weky
2y .

(©) (A) e (B) @

(D) 379 & B =g
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Page 6 of 16

42.

The Drobish-Bowley price index formula is

39. From apopulation containing 30 units, 5 units
- are drawn by simple random sampling the -
without replacement. The probability same (A) Geometric mean of Laspeyres and
specified unit included in the sample is - Paasche’s index formula '

(A) 1 (B) 1 (B) Arithmetic mean of Laspeyre’s and
6 .5 Paasche’s index formula ‘
©1 © _316 (C) Weighted mean of Laspeyre’s and

' 2 i ‘ Paasche’s index formula ‘
30 PP s A9 S o (D) None of the above
N R Ao ufoaaa gfirenfia R
faftr & faar 8, o foxl fame gorg & wfoaed SIfe-aeel &1 BHT FEHiE G § —
# o B i g - (A) FRR wd ured @ BEG gIDIB] Bl
® 2 ® 2 SfHfas ary ‘
(C)i ‘(D)i (B)m@maﬁmwhﬁw
30 FHIR e |
-40. Which of the following is Non-governmental (C) IufRR vd gy & BT GaABIBT BT
Statistical Organisation? . T Hry
(A) Central Statistical Organisation (D) 379 9 B 8] |
{B) Indian Institute of Foreign Trade, New 43. ;I:x)e gril:;?t(a)irr; :foa;gglcc;:;::i\l scegsgi ;;;tics .
Delhi the centre
(©) National Sample Survey Organisation (B) Inspection of village records maintained
(D) Programme Evaluation Organisation by Patwari ‘ '
(C) To classify land for forest and agricultural
et 8§ 9 I SRTOGIg Wiksga |TeH 87 purpose
(A) B iR o (D) All of the above
(B) ey fadel =R werE, 78 fiweh PR SR BT g e A § —
(C) Ty Sfcraey T I ) sl i i e w ol
D) IR i o APHe U PHRAl
41. ;,a)speyre’s formula has ... bias (B) yeardy ) Tiid & BT BT ﬁﬁ&m PRAT
| : (C) S @ SivTer &R Y A S o faavor
and Paasche’s formula has ... bias. g
(A) an upward, a downward v, (D) STRIaT |y
(B) a downwafd, an upward s 44. Which of the following is year]y pubhcatlon of
: CS0?
(€} an upward, an upward (A) Statistical abstract of India
© a downward, a downward (B) Estimates of national income
T e & © Satitcal news et
AR U B GHHF Aty 2 Y
(A) FHUR B 3R, A B AR e W/ PR CSO FT A wepTerT &7
(B) #r Y iR, TR B AR (A) ¥IReT T WGP aETe
‘ (B) IS 3T BT AHAT
(C) IR BT AR, FIR P! IR © < T T
©) 3 H air, A @ AR (©) et () 1 (B)
105 @ Page 7 of 16



45.  If the salary of a persoﬁ in the base year is Rs.

2000 per annuﬁiﬁand in the current year Rs.
5000.. The CPkﬁ‘ﬁs 325, then' the allowance
‘required to mamtam the same. standard. of

living is - ;’éfffj
(A) Rs.1000 S (B) Rs. 1500
(C) Rs. 1050 (D) Rs. 2000

IER g9 # el A a1 3my 2000 T wiegd
T A 9 ¥ 5000 % ufyed ¥ afy Sy
T ISP 3258, A S AT PTG S
R §91¢ Y& & forg fasamr wer i =nfee?
A 1000% £ (B) 15009

(€) 1050 % fé:“‘ () 2000%

46. In 1949, the (ﬁ};alrman of National Income
Committee wagw

(A) D.R. Gadgil (B) V.K.R. V. Rao

(©) C.R.Rao (D) P. C. Mahalanobis
11949 ¥, NI<E g WAy &1 ey B ar?
(A) . o= s (B) . B, AR, FL ’|
©) 4. IR ¥\ (D) 4. 4. wErerfe

47. At the centre multipurpose socio-economic

surveys are maifly conducted by -
(A) Central StatiStical Organisation (CSO)
(B) Indian Statigwal Institution (ISI)
(C) National Inf@:{’:matlon Institution (NII) -
(D) National Sample Surveys Office (NSSO)
w9 9§ fras grr oM Ry o 2
(A) BT iR HTeT §RT iy, e
(B) WReirT iRz e X1 :
(C) WRANY G WIS §RI
(D) iy ufdeet weeror SRR g1
48.  [nfant mortality rate is the ratio of -

(A) Number of dﬁaths to total population in a
region in a ym:ar

(B) Number of 'ﬂiéaths below age one year to
number of cEigi‘I,;dren born in the same yearin: -

the same regfnn
(C) Number. of deaths below age one month to
~ the number of births in the same year
(D) Number of maternal deaths in a year to the
number of women of age 15-50 years of
same area

49.

50.

Rrgy 7y &% =1 &1 oum § —
(A) 5T &1 § U ad & SRM Jad AT
(B) us I¥ ¥ FH Y H FTA B YA W@

e & T 7 o IR o o e

(C) vo @18 ¥ B9 I B g B gAb FE&AT
@Gﬁf%ﬁﬁ@ﬁé%aﬁ?ﬂwéﬁm
et & weE ,

(O) <t il 9t & gvg & SNF R el
el o Sen vd 9 o § 15-50 99 @

Which of the following statement is false?

{A) The crude birth and death rates are not

relevant for comparison:

(B) Gross reproduction rate takes into’

account the mortality factor.

(C) Net reproduction rate cannot be greater
than gross reproduction rate.

(D) If net reproduction rate is > 1, then the
population has a tendency to decrease.

1 & | P BoE w9 AR 8
(A)ga:nzéﬁmasﬁ@ag‘ga?mgaﬁﬁ
gl

(B) Wahel USTIF &X @I TUMAT ¥ FY IR UCH

T SULNT BN & | «

(C) g5 IS & BT AF el ga= & W
31feres ~7El BT Tepe |

(D)aﬁggma‘qaﬂm1ﬁaﬁmé‘r
AT SR Ted H9 B 3R SR BRMY

A population is said to be. stationary, if -

(A) Every year the number of births is
exactly equal to the number of deéths

(B) Constant mortality and fertility rates are
experienced at each age ‘

(C) Both (A)and (B)

(D) Neither (A) nor (B)

T SHEAT BT IR HEl A, afg —

(A)maéﬁmaﬁmaﬁﬁaﬁm
Td qad! BT HEIT WA 8l

(B) y&% a9 ¥ W UF Hg BT U A
il

(C) BT (A) T (B)

(D) 71 4T (A) 77T & (B)

51.

, NRR7

@3 NRR =1 & @ a5 o= oF awil

52.

53.

NRR & forg o & 9 o) o1 soe oy 8743
(A) WERUE: NRR &1 A1 0 9 5 & "o W8, |

Hbyx3ﬁ_€ bxyawmw %{ Zﬂ%byx>(l“‘

AT by BT — ‘
(A) &S (B) zromicHe
{C) giH® > 1 (D} eFToms < 1

'Wfﬁwﬂ{g%férqmywm?

(D) SRIFT F § PS5 o

WhICh of the foHowmg statement is true for

(A) Normally NRR varies from 0 to 5
(B) NRR cannot exceed GRR.

(C) IfNRR = 1, then the female population wifl-

exactly replace itself into new generatmgy«

o

and population remains constant. —

(D) All of the above

e

R if":
(&NRRWWGRR@WH@@W?

ergfpdl U S qui wu ¥ T o o
arelt feai % uRRafida = Rl Ton S
RerR el |
(D) SuRTERT T+ A
byx and bxy are two regression coefficients. If
byx > 0, then bxy will be - s
(A) Positive . (B) Negative e
(C) Positive > 1 (D) Positive < 1

Suppose for estimating y, the equation § =
5 — 2x calculations are made on a given set of
data, which of the followmg is true for this
situation? : v
(A) The y intercept of line is 2

(B) The slope of line is negative ,
(C) The line represents inverse relationship |
L) None of the above »

g=5-2x PP TR L AP A
DI FUT TE 82

(A) @1 y BT AGREF 2 B
(B) YT BT AT THRHP &
(C) X7 &by WY FRAE &

54. Two random variables x and y have the
following regression'equatiéns’ -
3x%2y-26=0
6x+y-31=0
then, the mean values of x and y are
respectively : : S
(A) 7,4 . B4
© 47 . ®a4s

< ATgREF R x T y B T YW —
| 3x+2y-26=0 - |
6x+y-31=0 "
B Al x T y @ 9T " Y 8
(A) 7,4 . (B 64
©) 4,7 ' @) 4,6
55. Ifxandy are two random variables and a, B, ¢
d are any numbers provided a# 0, ¢ # O; then
correlation co-efficient between ax + b and
cy+d is - ‘
A ¢ (ax + bey+d) = i—gr(x, ¥)
B) r(ax+b,cy+d) = —:f&rtx, y)

Oy (ax+b,cy+d) = lga(%l r(x%y)

®) r(ax+byey+d) = Zr(xy)
afe xTay 3T AGReE TR B WM a,b, ¢, d P
3= e 8 Ud a#0,c#0,dl ax+ bRy
cy+d$ﬁmmwm4

r(ax+b cy+d) = —gr(x,y)
(B) r(ax+bcy+d) = bz r(x,y)

) r (ax + b,cy + d) ’= Eg—! r(xy)
D) rax+bcy+d) = “=r(x Y)

Iact
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56.  Which of the following statement is not true? 59. Residual method is used to measure -
(A) Correlation co-efficient is the arithmetic (A) Trend (B) Irregular
mean between the regression co- ' ’ fluctuations
efficients. ‘ ~ (C) Cyclic fluctuations (P) Seasonal
(B) Regression co-efficient are independent , variations
of change of origin but not of scale. : -
(€) If r=0, then the lines of regression are sgftre A frer & wO F gaer @ Rl
perpendicular to each other. . ' g - '
(D) Both the regression co-efficient and the (A) sy=fy (B) srafia Seemaad
correlation co-efficient have the same (C) T faaror (D) Ay fqeRor
. sign. : . 60. For the given 6 values 15, 24, 18, 33, 42, 54,
e O B Y W T 87 the three yearly moving averages are -
(A) TE<ige W o e W FT ‘ (A) 19, 25, 31, 43 (B) 19, 25, 30,43
g 1 (©) 19,25,31,42 (D) 19,17, 30,42
(B) T o deg aRad| W e | |
B TRg A F uRadT W w2 ¥ faw gv 6 Al 15, 24, 18, 33,42, 54, % forg
(€) afg r=08), AT HT TATTHT XY Th GER & A = Wy § -
@ AT BT (A) 19, 25,31, 43 (B) 19, 25, 30, 43
(D) T ST TS Y HEHST TS BT (€) 19,25,31,42  (D)'19,17,30, 42
P AT BT € | 61. Supply Curve is a part of - o
57. The trend line with 1975 as origin is (A)pll\)/Inginal Utiligr Curve
Y = 20.6 + 1.68 X, the trend line with 1971 as :
T : (B) Marginal Revenue Curve
origin will be - ©) .
(B) Y=206+672X (B)Y=1388+168X Marginal Cost Curve
‘ : (D) Marginal Product Curve
(€) Y=34.61+168X (D) Y=2632+6.72X LT
gt T Wi § — Ao
1975 &I MR AFHR IUART @1 Y = 20.6 + (A) A= Syaar as &1
168X B AT MR &I 1971 WR dgal foay (B) AP TTH 95 T
ST, A SUART BT FHHIOT BT — (C) AT @I ash Bl
(A) Y=206+672X (B)Y=13.88+1.68X - (D) YT STE 9 BT
(C) Y=3461+1.68X (D) Y=2632+6.72X 62, Which of the following is not a cause of
58. Which of the following methods to measure rightward shift of demaﬁnd curve?
seasonal variations comparatively utilizes the A} Favourable change in tastes -
given data less? (B) Increase in the price of a substitute good
() Simple average  (B) Ratio to trend (C) Decrease in the price of a complementary
“ method method good :
(€) Ratio tomoving (D) Link relative ' (D) Increase in income of the consumer for
method method inferior good
e frartt & 9w 4 Frer % % R A1 Fresfee & & @i @ A @ & el
Y g0 W B qaTIEE wU § HH TR Y P DT T &7
T 27 | (A) sl 4 weRee gRada
(A) wew e AR (B) waRr srqar R (B) sifteerraey qvq 1 A1t # g
(©) wrr—me s (D) sfeerr e (©) RS o & PrAa § B
Afy Rfy (D) frpee o] & forg Swraer o o F gy
105 Page 10 of 16

63.

64,

65.

As per the Agricultural Census 2015-16, total
number of operational land holdings in
Rajasthan was -
- (A) 68.88 Lakh
(C) 65.84 Lakh

(B) 76.55 Lakh
(D) 78.81 Lakh

SO 2015-16 B FTAR, TR F Fl

renfere W et 9 <R o —

(A) 68.88 g (B) 76.55 &g

(C) 65.84 1™ (D) 78.81 arg

Which of the following étatement is not true?

(A) Paper currency is the main currency of the
country.

(B) Paper currency has an unlimited legal
tender.

(C) Paper currency can be used to settle debts
and make paymentsb fo an unlimited
amount. k

(D) None of the above

rafafad # 9 S HUF T T8 8°

(A) BTG &1 39 B & Al & |

(B) wrrSil HaT Srfifa Ry wvra war & o
q | 2 ’

(©) BTSN HET & WM gRT oRMf HET A
1 BT FUEH a1 olF—a (a1 ST |

B

(D) IR H | BIS AL

Which of the following is a second-order

condition of short-run equilibrium of firm

under perfect competition?

~(A) MC=MR

(B) MC = Price

(C) Slope of MR < Slope of MC

(D) Slope of MC < Slope of MR

ffaReaa 4 @ S0 v qof i 4 o
P SFCIPTAT T B e w5 Bt 27
(A) MC=MR

(B) MC = &9

(C) MR &1 €11 < MC &1 &Tel

(D) MC &7 @Tel < MR &1 @Tel

66.

67.

Who was thé first exponent of ‘Rolling Plan’?
(A) Domar |

(B) Mahalanobis

(C) Gunnar Myrdal

(B} K. C. Niyogi

IR TS B Y Ufdures B 97
(A) TR

(B) merer i g o
(€) TR e .
(D) &. 0. frmf

Rajasthan Renewable Energy Corporation

Limited (RRECL) was formed by merging

which two entities?

(A) Rajasthan State Electricity Board and
Sustainable Eh,ergy Corporation Limited

Energy

(B) Rajasthan Non-Conventional

Limited and  Sustainable  Energy
Corporation Limited

(C) Rajasthan State Power Corporation
Limited and Rajasthan Energy
Development Agency

(D) Rajasthan Energy Development Agency -

and Rajasthan Vidyut Vitran Nigam

Y. Te) &1 T8, i a7 Aveneit &1 ey B

fsar Tar? , ,

(A Torere o faga wed vd gRog S
e fafacs

(B) oA IR yrmRe ot fafice wd
it it P Rt

(©) v ¥y Sl fm fafies wd

[ o

IO Sl b Yol

(D) TSR SOt e Tl Ud RIoTRei
faeger faawor foem

105 &)
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: 53 Match the following -

Qevelopmenz Iggtltgtggn

(i) RFC
(ii) RIICO
(iii) RSRTC
(iv) CAZRI

Establishment Xg‘ ar

(1) 1959
(2) 1964
(3) 1980

(4) 1955
A) (D)-(1), (i1)-(2), (ii)-
(B) (©-(4), (1)-(3), (ii)-

© (1)-(1), (1D-(4), (iiD)-
(0) (1)-(3), (i1)-(2), (iii)-

(3), (IV) [4)
(2), (v)-(1)
(3), (iv)-(2)
(4), (iv)-(1)

- Fifea wr gafoa S —

T wvern
(i) R fae fem,

’(u)mramaﬁa‘rﬁmsﬁao‘mwﬁéw

e

(iii) TSR ST U qﬁa?::ﬁ e

(iv) ®ERI
U gy

(1) 1959

(2) 1964

(3) 1980

- (4) 1955

(A) (1)-(1), (i)-(2), (iid)-
(B) (1)-(4), (iD)-(3), (iiD)-

- O @-(0), (D-(4), (1)-
(0) (1)-(3), (i1)-(2), (iii)-

(3) (iv)-(4)
(2), (iv)-(1)
(3), (i)-(2)
(4), (iv)-(1)

"

69. In which Five-Year Plan, District Industry
Centres were established in every district of

Rajasthan?

(A) Second (B) Third

(©) Fifth (D) Seventh

o &gl foat § e sa e 9
RATYHT 54 TR o # By TE?

() fgdra (B) i

(C) ur=rdr (D) Hrady

70. The main centre of ‘Kankrej’ breed in

7i.

T2.

(A) 3R
(©) TR

(A gad

. therectangle?

afe [0.014x0.14p =

Rajasthan is -
(A} Ajmer
(C) Ganganagar

(B} Jalore
(D) Jhalawar

RIS & “BibRSl T BT 7 B8 & —
(B) SITEiR

(D) SIS

A certain sum of money trebles in 6 years by
some rate of simple interest. In how many.

- years it will be five times?

(B) 10 years
(D) 12 years

(A) 8 years
(C) 11 years

T e Al aMRe e 9 R e

6 auf 3§ f &1 ol @) fvaw ant # ww dfw
AT 1 Sre? ,

(B) 109y

(©) 1199 (®) 1299

The length and breadth of a rectangle are
changed by + 30% and - 20% respectively.
What is the percentage change in the area of

(B} + 6%
(D) + 4%

(A) - 6%
©) -4%

wmaﬂmeﬁ?%ﬁsféﬁm:%%%

3R - 20% &1 uRad= fFar omar &) o

gawe # fha uftera aRads ger 82
(A) - 6% (B) + 6%
(C) - 4% (D) +4%
: Ifm 0014x014[ then
' the value ofgls- V
(A) 0.196 ® 00196
(C) 0.00196

(D) 0.000196

0.014x0.14./q , &

CPTATE —
(A) 0.196 (B) 0.0196
() 0.00196 (D) 0.000196

74. o ——
The value of \/21+3\/59 +\/16+m
s
(A) 4 (B) 5
© 6 () 8
\/21.+i/59 +16+3/722 + a9 BT A E —
(A) 4 ®5
(O3 (D) 8
75.

A student divided a number by -; instead of

multiplying it by g . How much: percentage

erroris m the calculatiqn?
Ay 125% (B) 80%
(€ 25% @) 0%

wﬁmﬁ?%‘wﬁwaﬁiﬁwmaﬁ

oI = ﬁﬁﬂﬁamﬁmlmﬁﬁmﬁzm

t(f%‘ﬁfra' gfé 87
(A) 125% (B) 80%
(C) 25% (D) 0%

76. In 30 litres mixture of milk and water, the

ratio of milk and water is 7:3. What would be

" the quantity of water to be added in the |-

mixture in order to make this ratio 3:77
{A) 40 litres (B) 42 litres
(C) 45 litres (D) None of these

g 3R U & 30 ofex fmor ¥ gy ek ur
B U 7:3 8| 9 UM BT 37 N B
Wﬁwﬁﬁamwﬁmﬁwﬁa%ww
=rfr? :
(A) 40 TR

b
£
S
=
e

78.

- ©2

79.

80.

~(A) 7980

- (A) 100km

A is the smallest number -such that both
1452 x A and 1452 + A are complete square
numbers. Ais equal to -

(A) 4 - (B) 3

D) 1

AW B W & i Qe 1452 x A iR

1452 + Aol it wemrd ¥ A IR § -

(A) 4 (B) 3
€2 (D) 1
During one year, the population of a village is "

.increased by 5% and during next year it

decreased by 5%. If at the end of the second
year, the population is 7980, then the
population at the beginning of the first year
was -

(B) 8000

(C) 8020 (D) 8200

& 9y ¥, wwzﬁmﬂwﬁS%ﬁq@
& OIR § ok arTar af # 5% & w8 el
21l g 9¥ & &fw # Tifg BT SAwEr 7980
2,97 9o 99 & UR™ H 9T St off —
(A) 7980 (B) 8000

(C) 8020 - (D) 8200

With an average speed of 50km/h, a train
reaches its destination in time. If it goes with
an-average speed of 40km/h, it is late by 30
minutes to reach its destination. What is the
length of the total journey? '
(B) 110km

(C) 90km (D) 105km

wﬁasoﬁ.ﬁ./ﬁazﬁreﬁﬂﬁv%ﬁw
R Y T T% Ugg Ol § | 9f 98 40P,

- /der FY oifag ufy @ o &, A 9% 30

105 &
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() 42 e e o 38 § o T A TR 2| e
(C) 45 e @) g 9 o T8 AT B FEAY AT 87
B SR - (A) 100 f&. - (B) 110 fopAY.
77 (36343 +7) is equal to - 2 = (©) 90 f5 (D) 105 £5 91
A 5. 1? . ® s. }?_ L - Number of rows in MS Excel is equal to -
(€) 5.21 (D) 5. 21 nk "] (A) 75536 (B) 65536
L ' ERE . (C) 56536 (D) 56563
(36.343 + 7) IRIER & — 8
(A) 5.79 (B) 5.1 THUE, RS ¥ dfal ) e ajre & —
(©) 521 - ) 5.21 (A) 75536 ~ (B) 65536 ‘
: (C) 56536 (D) 56563
105 @ | Page 13 of 16



82. Size of IPv4 address is -

(A) 8 bits (B) 32 bits
(C) 64 bits (D) 128 bits
1Pv4 TS T 3MPR Bl & —

(A) 8 fdcH (B) 32 facw
(€) 64 facw (D) 128 focw

83. The first introduced Web browser is -

(A} Mosaic (B} Internet Explorer’
(C) Netscape (D) Chrome

WA U 99 JISOR & —

(A) T (B) $eXIE (AR
©) Jewpy (D) w1

84. Special effects used to introduce slides in a
presentation are called -
(A) Effects (B) Custom
animations

(D) Present
animations’

(C) Transitions

T UG H WIASEd B TKT HeA B o1y

TIRT § Y Y WS ghICH hEA § —
(A) spaed (B) ey yfvwer
(©) ifsrer= (D) e e

85. In MS Excel 2019, what is the result of the
formula = RIGHT ("india”, 2)? cenn
A ai - (B) ia -
(C) aa ‘ - (D) Error

wgY. ved 2019 # ¥ = RIGHT
(“india”, 2) BT YR FT 87
(A) ai (B) ia

© aa ®) 3

~ 86.. Which of the following Tab is used to change
" the colour of document content area in
- Microsoft Office 365 Word?

(A) File (B) Home

(C) Insert (D) Design

msaﬁwwesnfﬁm%sziéﬁﬁmﬁﬁ?ﬁﬁw
3T, m@amqﬁmmwm@m

3T B?
(A) wEa (B) g1
(©) gue (D) fesmg=

a7.

88.

89.

90.

91.

A{C) MS Excel

The default font for MS EX;:eI 2019 datasheet

(A) Arial 11 - point

(B) Arial Black 11 - point

(C) Calibri 11 - point

(D) Times New Roman 11 - point

WW vade 2019 Srerefie @ ]3‘5[6@' BT

(A TRaer 11 -dfs=

(B) vRyet =i 11 - digwe

(C) defigd 11 -dis=<

(D) TgwT = I 11 - digee

What is the maximum font size which can be
applied for any character?

(A) 163 (B) 168

(C) 1638 . (D) 16038

sl daFer & fow wanT # o S grern
Jfeman wive w7 87

(A) 163 (B) 168

(C) 1638 (D) 16038
Concatenation of text can be done using -

(A) Apostrophe () (B) Hash (#)

(©) Exclamation (I) (D) Ampersand (&)

SR FHT DIAdiCe 59 & TRt S¥a fHa
W1 T 87

(A) TORsifeT (1 (B) g1 (#).

(C) gawgarae (1) (D) g (&)°

The oldest spreadsheet package is - k

(A) VisiCalc (B) Lotus 1-2-3

(C) MS Excel (D) StarCalc

G QI Breeiie daet § —

(A) VisiCalc (B) Lotus 1-2-3

(D) StarCalc

In MS Excel 2019, address of currently
selected cell is shown in-

(A) Name Box (B) Formula Bar

(C) Status Bar (D) Title Bar

TH.UH. UaIe 20199 FaErE ¥ T 88 A a7
waT g I @— ,
(B) BIET IR ¥

(A) 59 df |
(C) wew Ir # (D) elgTe gR H

105 &
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92. For which of the following groups of 97. PDA stands for-
cemﬁlands, only one dialog box appears? (A) Personal Data (B) Personal Data
E:; F md‘, Go To _ ~ Assistant Account,
© g&goéizglzf’,gnd (C) Personal Digital (D) Personal Digital
(D) Clear, Go To, Replace’ Assistant Account
= 4 @ B @ FEve @ wE @ fon B9 WY HT e & -

U SHANT dfaxT Suferd grar 87 (R) g¥=a greT (B) q¥iTeT BT ATPHIST
(A) wTg=s, T T h afRrde _

®B) M g, R, wigws =5 ©) wdiwel Rfres (D) wier frea

(©) s, faerr, M g e e

(D) forrar, W g, Rerd 08 . : _—

83. Where is BCC wsed? - Which of the following service is created to
‘ (A) Search Engine T (B) Web .browser confirm if the given computer (with given IP-
©) E - mail & (D) High Level address) exists and is connected to Network?

Language (A) Ring (B) Ding
BCC &T YaIT %8l far Sivem 87 ©) Sing (P) Ping
(A) 9 g9 (B) 99 FTSSR _ :
N

94. Which of the following is used to reduce the B ﬂé & & sH FEYgeR (P usd & )
font size? e § § ok Acas @ NS 27
(A) Ctrl +] (B) Ctrl +] (A) Ring (B) Ding
(C) Ctrl +Shift + < (D) Both (B) and (C ‘

rl +5hift + < oth (B) and (C) (©) Sing (D) Ping

BT DT HBR tigc;” @ fow frer 7 9w 99. Which of the following shortcut is used to
(&) Ctrl +] ’ ®) Ct 4] group the selected shapes together in MS
(©) Ctrl +Shift+< (D) (B) 3R (C) &Y PowerPoint 2007 slide?

95 ) , (A) Ctrl + Shifce+ G~ (B) Ctrl+ G

- In MS Excel, which of the following formula
will give current system date? (©) Curl +Y (B) None of the above
(A) TODAY () (B) NOW() . .
(€) Both (A) and (B) (D) None of the above TATH. W ET 2007 B g ‘E‘_ ¥ g g
Hfal & THE e &g e § W B @
NASAGECR FET 5 8 I o i frees sifdpe @1 SwNT T 87
B! g ol e ,
(8) TODAY () (B) NOW() (A) Ctrl + Shift+ G (B) Ctrl + G
R . . C D) Tudaa -

(©) (A)3iR (B) &= (D) SR § A g (© Curl+y © . R

96. Which of the following is not the possible way 100. In MS Excel 2019, which of the following
of data exchange? operator has the highest precedence?

(A) Half-duplex (B) Full-duplex - (A) (B) ~
(C) Simplex (D) Multiplex ©) & (D) %
‘“’? A SRR W@HA TG, TR 20199, e o & R offRex
(A) grH—gwrad (B) go—swiad HT T W &
(©) Rrueras (D) FeETeereRy A) + (B) ~
: ©€) & (D) %
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